





Use the following diagram to answer question 3.

The triangle JKL shown below undergoes the translation (x, y) = (x + 3, y — 2).
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3. Which of the following rows represents the coordinates of the resulting image?

Row J K’ L
A. -2,-3) -=2,-5) -1 5)

'B =2,-3) =2,-5) d,-5)
¢ -8,-3) -8,-1) =51
D. -8,-3) =8,-1) G,-D

Use the following information to answer numerical-response question 1.

A piggy bank contains only quarters and nickels, and there is a total of 60 coins.
The total value of the coins in the bank is $7.40. F:0.25 h=oo0S
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How many quarters are in the piggy bank? g e 50O =Ty
Answer: 2L 2 ’W\e/)) 4#03;?10.42;(0.26 g+ 0.05 n
(Record your answer in the numerical-response section on the i sheetgo -n) +0 089
(-G #n M=6-n" |5 - F4p = 6.20n b
L up= 0-26 (e0-n) + 005N - T ey owe 2B nickels

J.up = 15-0-25n4 0.05n + § % -

A > the 7
J4yo > |5 -0.20N 020N = 15 -3.40 n e G 7) 22@?7?”
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Additional Information

The table below provides additional information about 49 of the 50 items that appeared
on the 2010 Grade 9 Pilot Mathematics Achievement Test.

Correct Item Specific
Item | Key |[Response % | Complexity | Strand | QOutcome Item Description
Determine the approximate square root
MC 1 C 85.1 Iy N 6 of a rational number that is not a perfect
square.
MC 2 B 182 M PR 3 Represent a word problem as a single-

variable linear equation.

Determine the resulting coordinates of
MC3 B 71.1 L SS 5 an image that undergoes a translation on
the Cartesian plane.

Apply knowledge of order of operations
MC 4 D 43.2 M N -4 to determine which expressions are
equivalent.

Perform operations on expressions
MC 5 D 71.0 M N 2 containing powers with integral bases
and whole number exponents.

MC 6 A 133 M PR 4 S(?lve a §1ngle-var1at?le linear inequality
with rational coefficients.

Determine the sum, difference, product,

and quotient of given powers with
ML & i = o - integral bases and whole number
exponents.

Solve a single-variable linear inequality
MC 8 D 42.5 H PR 4 with rational coefficients and represent
the solution on a number line.

MC 9 D 65.3 M PR 7 Represept the_ product of a n}onomlal and
a binomial with an algebra tile model.

Determine the equation that represents
MC10 | A 47.5 M SS 2 the height of a rectangular prism when
given the surface area of the prism.

Represent a pattern shown in a table of
MC 11 B 59.5 L, PR 1 values as a single-variable linear
equation.

Represent a given context as a single-
MCI12 | D 70.3 I PR -4 variable linear inequality with a rational
coefficient.

Determine the change in surface area of
MC 13 B 50.0 M sS 2 a rectangula_r prism after one of its

: dimensions is increased by a certain
factor.

Simplify a two-term expression

MC14 | D 532 L N 2 contained within parentheses b.y aPplylng
the exponent laws of powers with integral
bases and whole number exponents.

Determine the equation that represents
MC15 | D 48.9 H N - the solution to a word problem involving
the order of operations.
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Item

Key

Correct
Response %

Item
Complexity

Strand

Specific
Outcome

Item Description

MC 32

57.2

M

4

Solve a word problem by applying
knowledge of order of operations on
rational numbers expressed as percentages.

MC 33

89.0

H

Sp

Identify the statement that represents a
possible interpretation for a given graph.

MC 35

67.0

PR

Represent the solution to a given problem
with a linear equation.

MC 36

53.4

PR

Match a given linear equation to its
corresponding graph.

MC 37

79.0

SP

Determine whether or not a sample of a
population or a population was used to
answer a question and how that decision
may have influenced the results.

MC 38

55.4

SS

Use properties of circles to determine the
measure of an angle in a triangle that is
inscribed in a circle.

MC 39

68.4

Determine the expression that represents
the solution to a word problem involving
order of operations.

MC 40

66.8

Solve a word problem involving arithmetic
operations on rational numbers.

NR 1

22

38.5

PR

Represent and solve a given money
problem using a linear equation.

NR 2

SS

Solve a problem involving a circle property
whereby the perpendicular from the centre
of a circle to a chord bisects the chord.

NR 3

2:5

5132

SS

Use the properties of similar polygons to
solve a word problem.

NR 4

64

16.1

SS

Solve a word problem involving perimeter
and area of similar polygons.

NR5

35

712

SS

Solve a problem involving a circle
property whereby the measure of the
central angle is equal to twice the measure
of the inscribed angle subtended by the
same arc.

NR 6

24

20.0

SS

Create a composite 3-D object with the
largest surface area possible by joining
together two identical 3-D objects and find
the shared area that is common to both
3-D objects.

NR 7

85

37.6

PR

Represent and solve a given problem using
single-variable linear equations.

NR 8

11

74.0

PR

Represent and solve a given problem using
a single-variable linear equation.

NR9

63.1

SS

Determine the scale factor used to create
an image of a 2-D shape on the Cartesian
plane.

NR 10

80

66.2

SS

Use the properties of similar triangles to
solve a word problem.
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